&, k=3[ +k-1]

® -2 @ 4 (@)2
@ |2k—4| ® | -2k-2]

k—-1>0, k—-2<0
1<k<?2

k=3 |+ k-1|=-(k=3)+ (k—1) =2




EBH y = 22— 24 4k 9 THII ¢ S AR WA 5L ] &
o Y915 T

1 1 1
®k<% ®k<—% @k>1
@k<4_l (@k>—z1

B ~

y=x?-2x+ 4k & 27} x F3t
WA erelm WEAD 7}

D < (0 o]ojof stz

D

—=1-4k<0
1 <

1
k>
-




= MO WA £(x) =0, g(x) = 02 HEF A FerAYEY th
et ol w. T % {10} + {s(0)}" = 08 TRt

EEE!
Ag 127
A
Y
y=g(x)
VAR Y A
NN
y=f(x)
@a @ a,b @ a,c




oAy = x2 —6x+3+a 9 2AZIT A (1,2) E A
o] Fgke?
@—2 @ -1 ®1 @ 2 ®

1t
=

4

o, ]

H(1,2) € s, a =4
y=x2—6x+7=(x-3)2-2
webA] H4ghe -2




1 —
—/T—yzax2+bx+cl—1:—y=—§x2—2x+594 ez} ool

0|7

21 x=-29 0, NGt 3L 2=t ol W a+ b+ ¢ 9 FF2?
5 3 1 3 3

@-5 ®_§ ®_§ @5 ©§

ool Fouvg 45— —1
2

ZAHNA HAHZS IR BAH| HRE (-2, 3),

x2—2x+1

T y =~ (x+2)2 48 = -

N | — _Ll

1
. (1:—5, b:_2’C:1

Lat+btce=--




ro
po)
filo
-
_O'll‘
re

D

ohe APRPEH AL B 1) o] of

(x* = 2x)2 —=6(x>—2x) - 16 =0

1 @4 @2 @1+ O©1-i

-6X-16=0, (X 8)(X+2)=0
..XIS—I—'CXI—Q
(1) X=8Lmx2-2x=8 A (x-4)(x+2) =0
x=4F=x=-2
() X=-2¢mx?-2x=-2°0A x2-2x+2=0
Lx=1=+i

getA (i), (i)l x=4 E=x= 2 F

rr
=
Il
—
H




7. AAMERA 322 12x 11 = 09 Al 2 0 Byt B O, 0?12 492
o] k&7

@1 @ 2 ® 3 @ 4 €D5

a+B+y=3, af+Py+ya=2, afy=-1°|E=2
@+ 4y = (a+B+7)?-2(eB+PBy+ya) =3>-2-(2) =
9-4=5




8.

A7k §21520 O AR ax? + by + ¢ = 09] F2o] 2— V3L

o, <=0 o] zre9
a

® 3 @ 4 @5 @ 6 ®7

B

A7k 242 ol AFEHAolA 2 - v3o] Zold 2+ VBE
oo BR

23} A% BA sl -2 = (24 V) + (2~ ¥B) =4
2:(2+ V3) (2-V3) =1

—b b
e =5+(——):1+4=5
a a




DOw?=10B2 w3 -1=0
@Owl-1=00]B2
w=-1)(w*+w+1)=0
w—1#0°E2Z w2 +w+1=0
W —w4+1=-2w=#0
@w?+w+1=00]2

w# 00|22

1
FASwEHFB w14 = =0
1

Cw+—=-1
w
@ w2008 = (»3)689 . oy = v,
w2009 = ()3)669 . (2 = (2
o w2008 | 12000 _ 2

(cw?4+w+1=0)
® (w2)3 — b = (w3)2 — 12

=1
TabA, w2 6 = 19] B @ 8ol




ol

7
2

)

@, @24

a® + b2 + 2ab

(a+b)?




i(x+ i) = i(x® + 3x% — 3x — i)

= (=322 +1) + (x* - 3x)i
A57E H7] A= SR 0
L x2=-3x=0
x(x2-3)=0
x=0, £ V3




12.

10 olste] A% el ghal, LED”

=

(T+0)2  {(1+0)%)" 2i\"

o o :(§> -
"=-1°1B2 n=4k+2(k=0,1,2,3,--)
n©°] 10 °]3}e] A AFO| B 5 =2,6,10
L2464+ 10=18




3
a*=3a+1=09 M, a® - 2a + —— S} g2
a’+1

a?-3a+1=0°A

a® - 2a+ —a—1+i—a+l_1
{12-‘1—1_ 3a_ a
T, 0 - 3a+1=0°] FHL 2 P

1 1
a_3+_:0 ...a+—:3
a a

~(EA)= (a - 1) —1=2




a,b,c7t 7@ o) Al ®19] dolg yebd f, (a4 b)x* + 2cx +a—b

14.

iy
o
0
-
X
o o
0 O_L
.
b g o
e S
_o —_
1__4 W Ly s .
,_U ,_._mo>0_n_ S 2a
RI L S & v
WL B S %
—_— | -~
= Ve I¥a o o®
N LS X o XY o
N < T g
@ S s H B QIR .




15. AAZ no] thete] oA A n(n + 1)x% — x + 2006 = 09] T &
@y, B 1t W, (a1 + @ + -+ - + @2006) + (B1 + B2 + -+ - + B2oos) &

U7
2004 2005 2006 2007 2007
. 2006 . 2006 O 2007 @ 2008 2009

~&B ~

n(n+ 1)x* - x4 2006 = 098] & 2] a,, B,°|B=

ip L 11
n " nln+1l) n n+1

1 1 1 1 1 1
=G 7))t (o6 ~ 007
1 2006

2007 2007




